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ECONOMICS
' [Ho"nours ]
PAPER — VI
Full Marks : 90
Time : 4 hours
The figures in the right hand margin indicate marks

. Candidates are required to give their answers in their
own words as far as practicable

Illustrate the answers wherever necessary

[FIRSTHALF]
GROUP - A

Answer any two questions 9x2

1.  State the assumia'tions of 'Heckscher-Ohlin'
theory of international trade and anlyse the
pattern of trade in this model. 3+6
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Define ‘community indifference curve' and state
its properties. Derive 'offer curve' in a two
country two commodity model. 3+6

What is "International Monetary Fund (IMF)' ?
Describe the functions of IMF with special
reference to the role in solving the problem of
deficit in balance of payments. 2+7

- *Balance of payments always balances’ — Explain
the statement. 9

GROUP —- B
Answer any three questions :  6x3

Critically discuss the Ricardian theory of
comparative advantage. ' 6

State and prove the factor-price equalisation
theorem. : 6

Whét is World Trade Organisation (WTO)?
Critically discuss the role of WTO in promoting
. trade between countries. : : 6
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8. What is Leontief Paradox ? Briefly mention
different explanations to the Leontief paradox. 6

9, State and prove the Marshall-Lerner condition. 2 + 4

10. Explain the concept of factor-intensity several. 6

GROUP - C

Answer any three questions : © 3x3.

11. Distinguish between depreciation and devaluation
of currency. | 3

12. Briefly describe the gains from international
trade. o 3

13. Distinguish between fixed exchange rate and

flexible exchange rate. 3
14. What is 'Internatiorial Gold Standard'? 3 -
o
15. What is'J' curve ? 3

-16. What do you mean by 'non-tariff' bariers to
international trade ? 3.
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17.

18.

19.
- work effort. . T 9

20.

21.

(4)

[ SECOND HALF ] |
GROUP — A

Answer any two questions : 9x2

Discuss the 'ability to pay principle' of taxation
and point out its limitations. 9

Distinguish between direct tax and indirect tax.
Describe the advantages and disadvantages of
indirect tax. 9

Examine the effect of income tax on savings and

What is govt. expenditure multiplier ? How does
it differ from the balanced budget multiplier?
Comment on the value of the balanced budget
multiplier. 9,

GROUP —-B
Answer any three questions : 6x3

Critically discuss the benefit principle of
taxation. | ' 6
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23.

24.

25.

26.

27.

(5)

. Briefly discuss the advantages and disadvantages

of public debt compared to taxation as source of
collecting financial resources of the government. 6

Distinguish between burden of internal debtand .
external debt. ‘ 6

Examine the role of demand and supply
elasticities in the distribution of tax burden
between buyers and sellers. A, 6

Explain the feafures of public goodéﬁ 6

What. are the major features of a good tax
system ? i : 6

GROUP~C

Answer any three questions:  ~ 3 x3

State the conditions of optimum allocation of
resources between private goods and public

~ goods. . 3

28.

What do you mean by incidence of taxation? 3
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'29. Distinguish between 'value added tax (VAT),
excise duty and sales tax. 3

30. Differentiate between revenue account and
capital account of government budget. 3

31. What do you understand by 'deficit financing' ? 3

32. What is excess burden of taxation ? 3
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